24.964 Fall 2004 A. Albright

Assignment 6: The azbalanguage
Due: Oct. 28

This week’s assignment is a short one: (see lecture notes for the reading assignment)

e Read through the LFCD.pl implementation of Hayes’ proposal (in this week’s perlscripts directory).
Make sure you understand how it implements the LFCD approach (if something doesn'’t look clear,
ask—it could be a bug)

e Prince & Tesar (1999) discuss the problematic azba language (section 6). Prepare an input file of
tableaus demonstrating the azba language, that can be run in RCD.pl and LFCD.pl. Hayes (1999)
claims that the LFCD works on the azba language. Does it? How?



